o al equa/.

s
Q<
Supws ™

10O

{/

1/

. [5 AR .

o 5D &
Opgps LW

all diﬁ"e /e

Vocabulary

pence

pound

coin

note

total

amount

change

difference

price

cost

pay

owe

e @ =
1p 2p 5p

1 penny 2 pence 5 pence

10p 20p  50p
10 pence 20 pence 50 pence

Equal

amounts
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( 20p=20p=20p )

( £1=£1=£1 )

Year Two
Money

£5

£1 £2

10 pounds 20 pounds 50 pounds

Compare
amounts

A £9 and 50p < £10 |
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Find the
total

Lucy bought a teddy bear and some playing cards.

T

[ 45p +

Timek bought two books.
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Find the
change

Lucy bought a jigsaw with a 50p coin. How much
change did she get?

50p
40p ?

_ (50p—40p= 10p) l =

Timek bought a plant and a toy car. He paid with a

£1 coin. How much change did he get?
80p

68p 12p

£1
80p ?

. [ £1 - 80p = 20p ) ;.-t-?,é,-ii’.‘ \




